SECONDARY SCHOOL EXAMINATION — 2019 (ANNUAL)

Model Set (SCIENCE)
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Candidates are required to give their answer in their own words as far
as practicable.
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There are two section in this question paper. Section-A and
Section-B.
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Threr are 40 objective type questions in section —A’. Each
question carries one mark. All objective type questions are to be
answered on OMR sheet.

3. w—aﬁwgeaﬁu@ﬁﬁﬁﬁuwﬁl

Section-B, Consists of both short answer type questions and long

answer type questions.
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The number of short answer type question is twenty two (22). Out
of them, eight questions are from Physics, seven questions are
from Chemistry and seven questions are from Biology. Four
questions are to be answered from each subject (Physics,
Chemistry and Biology). Each short answer type question carries 2
marks.
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The number of long answer type questions is six (06) : two
guestions each from Physics, Chemistry and Biology. Long answer
type questions from Physics carries 6 marks and from Chemistry
and Biology carries 5 marks each. Answer of one question from

Physics, Cherﬁistry and Biology is compulsory.
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Section A (Objective Type Question)
ﬁmmagﬁzﬁatﬁ?lmﬁﬁ@ﬂé’rﬁ'cﬁwiﬁl 40 X 1 = 40
Select the correct option for the given multiple choice questions.

1. WWWW@WWW%?
A gHAe TU9 B. aradel ¥4V
C. Sda &y D. 374 & 94l

The focal length of which mirror is taken negative ?
A. Plane mirror B. Concave mirror
C. Convex mirror D. All of these

2. ﬁﬂaﬂtﬁﬂ@(ﬂaﬂ?wﬁwm)ﬁwﬁﬁa%?
A f=R B.f=R/2
C.f=R/3 ; D.f=R/4

What is the relation between focal length (f) and radius of

curvature (R) of a lens?
A f=R B.f=R/2

C.f=R/3 D.f=R/4



1 ¥ fr Aremy &1 eradeie R 2 ?
A. gar B. 5&
C. 3fyem D. 81

Which medium of the following has greater refractive index ?
A. Air B. Water

C. Glass D. Diamond

I gt % foy e gfe Y srovaw o & -
A. 25 M B. 25 941

C. 25 fefy D. 7 ¥ T8

The least distance of distinct vision for the normal vision is -
A.25m B. 25cm
C. 25mm D. None of these

IR TG BT B A (@) el B A o & e we B

e B ?
A ST B. sfrem
C. a1 D. diar

Which colour of white light bends least when the light passes
through a prism ?

A. Violet B. Blue

C. Red | D. Yellow



Frpe—gfie @ &9 o9 @ ST grT FAie far o qod g ?
A JHader oid B. St oi¥
C. fgwiadt o= D. s & ¥

Myopia can be corrected by using -

A. Concave lens B. Convex lens

C. Bi-focal lens D. None of these

Jea vfeRe®ar R $ear € —

A TTAS D ddls W B. AIdd & IR BT &ABA W

C. oa® & uaref & Ui R D. g7 @ ¥t W

The electrical resistivity of a conductor depends on -
A. length of a conductor

B. Cross-section Area of a conductor

C. Nature of a material of the conductor

D. All of these

foe wfdd @1 S W= & -

A dc B. @ic /dcT
C. gfie D. &

S| unit of electric power is -

A. Watt B. Watt/hour

C. Unit D. Ohm



10.

s e faea St &1 A & —

A. 3.6x10% B. 3.6x10%)
C. 3.6x10%) D. 3.6x10%
The value of one unit electric energy is -

A. 3.6x10° B. 3.6x10%)
C. 3.6x10°J D. 3.6x10%J

e ¥ 9 HH-J1 $YA WG T8l 8 7

A. fagga SIS dea g IRV R B bRl ©

B. faea Aiex fig@ Sut &1 e ol ¥ agodr &1
C. TNH 6 YWY WER el et |

D. & faEgd e arenm ar W fagra OR g | |

Which of the following statement is not correct ?

A. An electric generator works on the principle of electromagnetic

induction.

B. An electric motor converts electrical energy into mechanical

energy.
C. Lines of magnetic force do not intersect each-other

D. A wire with a green insulation is usually the live wire of an

electric supply.
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TAHT & amE | 9t g1 a7 Aemer 9o avdl & —
A TP W FRIUT fga 99 @ faen

B. guag aF & fiwn

C. =i A yarfea fagga gt @ fa=n

D. 3799 & &I &

In Fleming's left-hand rule, Middle finger of the left hand indicates -
A. direction of electric force applied on a conductor

B. direction of the electric field.

C. direction of the flow of electric current

D. None of these

gD & AR g &aa @Rl @ e @ g 8 ?

A. SR g9 I RO g N 3R

B. Sf#iv1 gg A IR ¢ ¥ IR

C. guag &= Y@sl & faen Miea 78 &

D. T & 315 7l

What is the direction of magnetic field lines inside a magnet ?

A. from North pole to south pole
B. from south pole to North pole
C. direction of magnetic field lines are not fixed.

D. None of these



13.

14.

15.

TS Soft BT S 1 7 pA-—w e ?
A QA B. wifean
C. BT D. s 4 |4

Which of the following is the nuclear energy source ?

A. Uranium B. Sodium

C. Carbon D. All of these
el AT BT TS SR T 2

A. Ca(OH), B. CaO

C. CaCO; D. Ca(HCOs),

What is chemical formula of quick lime?
A. Ca(OH), B. CaO
C. CaCOs D. Ca(HCO3),

ST B dea FuEed ¥ Ui W BT 19 gaq BT g ?
A. sifeirem B. BiggioH
C. siteiIo 3R grggla Mt D. |

Which gas is released from the anode during electrolysis of water?
A. Oxygen B. Hydrogen

C. Both Hydrogen and Oxygen D. Ozone
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16.

17.

18.

IfHTT AreT FH TG gH § -

A NaHCO; B. Na,CO310H,0
C. Ca(OH), D. CaCQ;

The chemical formula for baking soda is -

A. NaHCO; B. Na,C0O310H,0
C. Ca(OH), D. CaCO;,

BH—T yare! o forend U3 B A R S § 7
A 3T B. 4R
C. oau D. g8 9§ P1g A8

Which substance changes the colour of blue litmus to red?
A. Acid B. Base

C. Salt D. None of these

e aife Av=NfRraT &1 pH 99 & —

A7 B. s

C 9 D. 105

pH value of milk of magnesia is -

A 7 B. 8

C.9 D. 105



19.

20.

21.

fop=t § P11 STy TSI § ?
A. Irafea B. WeHR
C. | D. SafraH

Which one of the following non-metals is lustrous?
A. lodine B. Sulphur

C. Bromine D. Selenium

e & @ BT o e afifpar-eer & ?

A. Al B. Na

C.Ca D. Mg

Which one of following metals is the most reactive?

A Al B. Na

C.Ca D. Mg
aﬁWWzﬁa@ﬂﬂamﬁsﬁaﬁﬁaﬁm%ﬁﬁ?ﬁ%?
A2 B. 6

C.3 D. 4

How many electrons are present in the outermost orbit of oxygen
atom?

A 2 B. s

C.3 D. 4
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22,

23.

24,

qﬁﬂwmﬁ%%mmw%—
A. wreifeafas et B. UfeeEsS

C. ¥ D. Vchlaldl

Butanone is an organic compound whose functional group is -
A. Carboxylic Acid B. Aldehyde
C. Ketone D. Alcohol

#@Gﬁzﬁamaﬁa%eﬁﬂﬁo—cﬁmaﬂﬁ%‘?
A. TE e B. fg amsy
C. 1 smEy D. g7 ¥ BIg 8

How many bonds are formed between two Nitrogen atoms ?

A. Single Bond B. Double Bond
C. Triple Bonds D. None of these
Vo= BT | A © —

A C Hanez B. CoHzn

C. CyHan-1 D. CiHznz

The general formula for an Alkenes is -

A. CrHanez B. CnHan

C. Cnl"|2n-1 D. CnHz-'\-z

11



25.

26.

27.

28.

amgfir aadd e A orad @ W & -

A7 B. 8 -

C. .o D. 18

The number of periods in the modern periodic table is -

A7 B. 8

C. 9 D. 18
ﬂqgﬁwﬁrﬁﬁaﬁmmwﬁwqﬁaﬁﬂaﬁ%?
A. TRATY] HIES 98T & B. TRV WIS HE ¥ |
C. A wrgw ket e 8 D. 578 § @l 78l
How does the atomic size vary in going down a group?

A. Atomic size increases. B. Atomic size decreases

C. Atomic size does not change D. None of these

BT TTEH SHEAIGE a9 BT rad Rl § 7

A. uftgd B. fefoas

C. JEu D. 3 ¥ 313 el
Which enzyme breaks down emulsified fat ?

A. Pepsin B. Trypsin

C. Lipase D. None of these

FHT Y <ad €1 Bl § —

A. 80 mm B. 100 cm

C.120 mm D. 130mm

12



The normal systolic blood pressure is -
A. 80 mm B. 100 cm
C. 120 mm D. 130mm

gy H wTer WYYl gRT 99 WIS UIey & I 9 H fFEd g™

AT ST & —
A SISaH gRT B. %eliud ™I
C. I grI D. 5% 9 it

The food manufactured in leaves during the process of

photosynthesis is transported from leaves to various parts of

plants by —
A. Xylem B. Phloem
C. Stomata D. All of these

I dler @7 A gaTd S Beld gRT BIfIS g B uefa &Rar § |

A g B. i
C. g D. 39 | it

Name the plant which show vegetative propagation by grafting.
A. Wheat B. Rose

C. Paddy D. All of these

13



31.

32.

33.

FA~R ) 9 AToHe & SR 8 hr & 2
A roHfeay B. oivrf=ran
C. s D. 394 ¥ g T8

Kala-azar is caused by which micro-organism?
A. Plasmodium B. leishmania

C. Amoeba D. None of these

= e fgforft g 8 7

A. T g B. dite! qu
C. udiar goy D. 74 9 ®I¥ 721

Which of the following is a bisexual flower?

A. Rose flower B. Pumpkin flower
C. Papaya flower D. None of these
a1 # wronel R Bl @ —

A irEi § B. Al A

C. ol # D w4 4 | #

The olfactory receptors in human are located in -

A. eyes B. nose

C. ear D. All of these

14



34.

35.

36.

TR R ¥ 9l Wee g fafa g § -
A yARass 9 B. Agel &

C. 9t=7 2 D. srrRass

All the voluntary actions of our body are controlled by

A. Cerebrum B. Medula

C. Pons D. Cerebellum
Siqat % gfy s Enfaa g @ -

A UR Ui | B. s/ag ufor 4

C. afiges A D. 7 ¥ B

In animals, growth hormone is secreted by
A. Pituitary giand B. Thyroid gland

C. Adrenal gland D. None of these

safRraar @1 fagia fran gfoarfea far 2
A #Ed B. o SRfa=
C. ST I+ a1 D. g q ®1F 78

Who proposed principle of heredity ?
A. Mendel B. Charls Darwin

C. Jagdish Chandra Bose D. None of these

15



37

38.

39.

Rt 7 forr oRgE B § -
A XY B. XX
C. XY &R XX g D. g9 ¥ @Y &8I

Sex chromosomes in female is -

A. XY | B. XX

C. XY and XX both D. None of these
fra § § @19 9 e s g ?

A wREH B. il

C. Urehef = D. feg TR

Which one of the following is the bio-degradable waste ?
A. Plastic B. Thermocol
C. Polythene _ D. Tissue paper

AER g2 U e U9 B oid GUSY avel € ?
A, 10 YT B. 3T Wo¥l
C. IERIg D. faEr

Which state has arrangement of ‘Ahars and pynes' for water

harvesting system?
A. Madhya Pradesh B. Uttar Pradesh

C. Maharashtra D. Bihar

16



40.

yrepfers TETEHl &1 WEeE @ fog wed Sugw ey e § 9§ #1F &7
A HH IUART B. O =0T

C. 4= IugT D. $78 & 94

Which is the most suitable choice for management of natural

resources?
A. Reduce B. Recycle

C. Reuse D. All of these

17



¥og—dq (Section-B)

#iv grgfss u¥9 (Non-Objective Type Questions)

Hifd®s = (Physics)

e S99 9 (Short Answer Type Questions)

YIT AR 1§ 8 9% oY SN Bife b UeH 8| 59 9§ Bl 4 we B SR T
(15x2=30)
There are short answer type questions from guestion no. 1 to 8. Give answer

any four question out of eight short answer type questions. (15x2=30)

1, wehrel b T i @7 fored 2
State the laws of reflection of light.

2. aaae <Y @ amar B ) X {9 @ ufifds @ fon we fawor s
i ok 99 uffde @ ysia, AHR (@gel) T& I o ford | 2
Draw a ray diagram for image of an object placed at centre of
curvature of a concave mirror. Write the nature, size and position
of the image formed by the mirror.

3, YT BT GHIO J AT FAT FESII 8¢ T U IAIEXY Sy GHHAN | 2
What do you mean by scattering of light? Explain it by giving an
example.

4. faga fg &1 uRaifia X ol g Sl A% ford | 2

Define electric potential and write its S1 unit.

18



5, 20Q wieRt @ i fag@ R A fIgd arT okl 81 308 # S
IHT gReEferT BT 2
An electric iron of resistance 20 €2 takes a current of 5A. Calculate
the heat developed in 30s.

6 @ Ui & YTt ve-geR @ g 98 g el # ? 2
Why don’t two magnetic lines of force intersect each-other?

7. TN o sdeeoia Sul Tl # & v fordd | 2
Write the two differences between renewable and non-renewable
sources of energy.

8. ra Ry § wiftin & <o e fFram @ yan fem oar 87 2
In what conditions Fleming's right hand rule is used ?

4 9o ¥ _(Long Answer Type Questions)
fop=2l Tdh U B I 1 | 2+3+1=6

Answer any one question

9.

10.

W PIY | 38 gl T /T B e7 2+3+1=6
Explain the principle and working of an electric generator by

drawing a labelled diagram. What is the function of brushes.
(A) firsq = 2 ? 242+2=6

(B) #fa & froH @ BRI Uhavil UHTe & e &1 fHR01 s i |

19



(C) R gTer FT avl e | oy e ws €1 frew 9 wre WagH
@ gut 3 %A A ford |

(A) What is prism ?

(B) Draw a ray diagram of refraction of monochromatic light
through a glass prism.

(C) What do you mean by dispersion of white light. Write the order
of colours of spectrum obtained from a prism.

THTaT Irea (Chemistry)

a9 Sada 9¥ (Short Answer Type Questions)

wm@rn@wazﬁagﬁﬁuﬁ%?ﬁmﬁqsqﬁﬁﬁﬁﬁ4mzﬁrw

|

(15x2=30)

Question no. 11 to 17 are short answer type questions. Give answer any four

question out of eight short answer type questions.

1.

12.

(15x2=30)

mqﬁm%ﬁagﬁmaﬁﬁmmwwmﬁiﬁwﬂw
ford | | 2
Write a chemical equation of a reaction taking place between an

acid and a base.

SoTE i @ e T e & ? U IareRy A | 2
What do you mean by exothermic reaction? Give an example.

20



13.

14.

15.

16.

17.

pH & @1 & ? U Serdq faaas &1 pH 7 fad | z
What is a ph scale? Write pH value of a neutral solution.

SHIEH! ffadigs #1887 & II—9Hl AfaIgS] BT IaERY
U o
What are amphoteric oxides? Give two examples of amphoteric
oxides.

amafacs AP BT ToHie ST F4T BT 8 ? 2
Why do ionic compounds have high melting points?

H1E7 TrgaitaaTE CO, ® gefas™ fimg deem e | 2
Show the electron dot structure of carbon dioxide (CO5)

P(15) 3R Ar(18) @1 geragifa fa=arg fad | 2

Write down electronic configuration of P(15) and Ar (18).

< 9afiT uv= (Long Answer Type Questions)

2l T Uo7 &1 I < |

Answer any one question

18.

19.

gIgen @ Hifdd Ud IS [ g9 BT Ioold DY | 5
Describe the physical and chemical properties of metals

el et AR ¥ Geal B GESIddl, WA B AR aifead 1
stefead T gHl @ YgRT B wHAd | | 5
Explain the trends of valency, atomic size and metallic and non-

metallic characters of elements present in modern periodic table.

21



ST fasm= (Biology)

" I 93T (Short Answer Type Questions)

T G 20 ¥ 26 OF oY IO0G BIfc B g ¥ 39 A B 4 gl @1 9w

o (15x2=30)

There are short answer type questions from question no. 20 to 26. Give

answer any four question out of eight short answer type questions.

(15x2=30)
20.  (A) % &1 AHifea iy i | 1+1=2
Draw well labelled diagram of stomata.
(B) g &1 9= B TT & ?
What is the main function of stomata?
21.  wfoadt fhar # wRass o @@ yfier 87 2

What is the role of brain in reflex action?
22. 2o TF0 U0 & URIGRY ¥ e & fore smavae w) &7
Why is copying of DNA is an essential part of the process of
reproduction ?
23, A9 ¥ 9= o1 foiv o &9 g & ?
How is the sex of the child determined in human beings?

24. T BT & O 3fs P1 Feq S8 gl ?

What happens when the egg is not fertilized?
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5. GRS # UATHS! B AT YT Bl § 2
What is the role of decomposers in an ecosystem?
06, WU e A A9 T FHHAS 87

What do you mean by sustainable management?

A= 3adg 9¥9 (Long Answer Type Questions)
forsl U® Y @ SR & |

Answer any one question
27. W(ﬁmﬁ)aﬂwwm—ﬁﬁzﬁrmaﬁm| 5

Describe the structure and functions of nephrons.

28. gﬂ?ﬁaﬂé&ﬂmwwﬁ%ﬂw@gﬂ%ﬁfﬁﬁwﬁ?ﬁ
IR ¥ forg | 5
Draw a labelled diagram of the longitudinal section of a flower and

mention the different parts of the flower.
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